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Inequalities and Absolute Value. Form A

1. The inequality 5 — 2x < 25 is equivalent to which of the following inequalities?
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(A) x < 10 3
(B)x > —10 —-2xg 20 >
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2. The inequality 2(5 — 3x) > 3(x — 1) is equivalent to which of the following inequalities?
2 (5-3)y 3(x-1)
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B= <3 0 - ex 7 3
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(B)x > = —bx-3x > ->—10

2 —-Ax > —-1>
(C)x <~ =

9 15
(D)x >~ ¥ & L2
(E)x < 3

3. Which of the following inequalities represents the graph shown below on the real
number line?
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(A)—3<x<2
(B)3<x<2

(C)-3<x<2
D)—2<x<1
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4. Which of the following inequalities represents the graph shown below on the real
number line?
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(A)—2<xor5<x
(B) —-22xand5 =x
—-2<xand5=x

‘—2>xor5<x

(E)—2=2xo0r5=x

5. Which of the following inequalities represents the graph x > 4 on the real number line?
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o A O means A
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6. Which of the following represent the values of x that are the solutions for the inequality Bt ve

x+3)1-x)=0? —
X+5)(1=x)Z0
( ¥ )( 7/ ‘o Mve same Sign
A-3<x<1 (x+2) and C1=x) need S
(B)-3<x<1 since Yhew product 15 PO
(Cl-1<2<3 _ _5
D)1>xor—3>x 50 X+ 20 = X7
(B)-1>x0r3=x |~ 7O -;7 \ Zx
{=3< x=1)
7. Which of the following is the inequality forthe graph given betow in the staAndard (x,¥)
rdinate plane? o twW o pownts ond €2,
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8. Which of the following graphs below is the representation for the inequality
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9. Which of the following is the inequality for the graph shown below in the standard (x, ¥)

coordinate plane? L‘\V\{@ w= O-h _ =L |
&0 . 2
Y inyerCept=2
¥ : .
C\V\Q’(D N 50 Y= —X+2 Wne \5 Qd{\fé
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A) 0<x+y<-3



B)y—x>-3
-3sx+y<2

(D) -3<x+y<2

{E)-3<y<2
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10. Which of the following is the inequality for the graph shown below in the standard xy)
coordinate plane for the circle at the origin and a radius of 5 inches?

(A)) x% —y? <25 éqm«*‘uﬁl‘" Of“C;\"/\f“ C@;b> Cenmter—
@x2+yzss CX~&> -\-(3-\0>: f N ~= (‘oﬂ\\Js
x?+y% <25 %
(D) x?+y%2<5 X'\':S*ZS P N
)2~y <5 £ s
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11. What is the value of the so &5 <
expression |—4| — |7 — 49| + 1?
()47 \ﬁq\ﬁ‘W’Lj‘ﬂw\— ﬂ
(B) —38 \
o = |-y
(D) 37
(E) 38 = 4 = 2 | =
12. What is the value of the expression |3(—3) — 18]?
=11l = (-2 = 27

(B) —27
(C) -9
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13. What is the solution to the equation |3x — 1| = 47
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(B)x=—lorx=—2
@x=-—1orx=g
(D)x=—-lorx=§
(E)x=—10rx=§

14. What is the solution to the equation |1 — 2x| = 47

.
(A)x=50rx=E v _ ﬁ/
2 2 l—ZX—W \"ZX:NL{
B)x=—2o0rx=2 -4 =2zx i —

3 g 2—9x 19 =2x
(C)x::—z-orxz—g B 28<c 2x
(D)x =—-3o0rx=>5 X-‘-”—é—- XZ%‘%

__3 _2 _ 5
(Eyx = or X = - X=2

15. What is the solution to the inequality |x — 4] < 77

A)-3<x<11
B)x>1lorx < -3 _ _
—3<x <11 X< x=q 7=l
(D)x ==30orx =11 X \\ _'5
(B))-11<x<3 <-b ~ 7
—E<
> and 1\

16. What is the solution to the inequality |x + 3] > 57

A)-8<x<2
B)yx>20rx< -8

C)-8<x<2 XTB?S X¥3 < -5

Dyx=—8orx=2

(
(
(E))x > —8orx <2 X?Z, X <=5
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17. What is the solution to the inequality —2|2x + 3| + 14 = —167
—9Sx$6 -—42»«;—3&/}/—30 =iy
Byx =60rx<-9 A (_?D
(C)=9 <x <2 \ZXT3\\< |5 =
(D)x=—-90rx=6 —
(E))x>—-90rx<6 2ZX4HT 1S 2><+7)7 —15
Zxst xgb X > — 18
18. What is the solution to the inequality [-2x + 7] + 5 = 14? 7(7 c’ ~9 ¢
A)-1<x<8 l-2x+7) > 9
@ <-lorx=8 K——J;_,_\
C)-1<x<8 |
D)x=8orx=-1 v?—x'\'—’ &4 ”Z)V\"7\<_'ﬂ'
(E))x < 16 “IxzZ 2% & ~ib
X < Az B8 ok
19. What is the solution to the inequality 2|x + 4| + 6 > —27? = _'\’ 8 Z
(A)O<x<8 2|x+4| > -8
B)x >00rx<-8 \X—\H\?“"f
(jlm<x<w
(D)x =8o0rx=20 |
(E)x<8 XYy ~ ¢ Xrp<t
A%, G
X> =8 R Po—
[3x— 3| -8 O
20. What is the solution to the inequality > —122
(A)-19 < x < 21 3&-—3 < 60O
B)yx>21orx<-—19
(C)—0 < x < o r ﬁ 6
(D)x ==190rx =21 ’bx_5< bO -57 Q
)

(E))x < 60

Ax< b3 5X 7y =9l

1. C 1.C
2. A 12.A WA X/ 0
3. E 13.C

4. D 14.E

5 A 15.C ' O — )

9 <) 3



6. B 16.B
7. A 17.A
8. A 18.B
9. C 19.C

10.C 20.A

www.kawarizmi.com

o9



